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QUESTION 1

Which of the following statements about RAID 5 are correct? (Multiple Choice)

A. RAID 5 has fixed parity disks,

B. RAID 5 uses the XOR algorithm for parity,

C. RAID 5 writes data by stripes.

D. RAID 5 tolerates the failure of a maximum of two member disks without losing data.

Correct Answer: BC

QUESTION 2

Which of the following occurs after multipathing software is installed on a host? (Multiple Choice)

A. Maps a LUN to the host

B. Avoids logical errors from occurring in the operating system as a result of multiple reachable paths to the same LUN.
C. Improves link reliability and prevents the failure of a single link from causing a system failure.

D. Sets up connection between a storage device and the host.

Correct Answer: BC

QUESTION 3

In storage systems, what does throughput refers to?

A. Amount of data that can be received and written to the storage medium in a period of time.
B. Amount of data that can be transmitted and received over network in a period of time.

C. Amount of signals that can be sent or received by processors in a period of time.

D. Amount of calculations that can be processed in a period of time.

Correct Answer: A

QUESTION 4
Which is NOT the limitation of DAS, compared with SAN?
A. Poor scalability

B. Large investment
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C. Difficult resource sharing
D. Decentralized management

Correct Answer: B

QUESTION 5

Because they are cheap and still have a large capacity we can say that cMLC Solid State Disks are ideal for storing
MP3 files and JPGs at home.

A. TRU
B. FALSE

Correct Answer: A
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